Installation Instructions for 920LSESSENT

Essence Trio Suspension 11
VisuaL CoMFORT & Co.

MODERN COLLECTION

GENERAL PRODUCT INFORMATION:
These fixtures are intended to be installed CQUS

CAUTION - RISK OF FIRE

utilizing NEC compliant junction boxes.

Intertek This product must be installed in accordance with the
. . . . . applicable installation code by a person familiar with
This product is suitable for indoor dry locations only. the construction and operation of the product and the
hazards involved.
This product can be dimmed with a low-voltage Use minimum 90°C supply conductors.

electronic dimmer

This instruction shows a typical installation. SAVE THESE INSTRUCTIONS!
Install the Canopy

1]

B

MOUNTING PLATE
#8-32 SCREW l D @ -

]
L
ANCHOR

= =

CANOPY HOUSING

B With a hammer tap the anchors at the marked points into the
B Remove the three #8-32 screws on the canopy housing. ceiling up to the threaded portion.
H Screw the anchors in the rest of the way with a Phillips

E1 Lift the mounting plate from the housing. screwdriver

El

MOUNTING PLATE MOUNTING PLATE

3] Align the mounting plate slots with the electrical box holes and A Feed the power line wires through the mounting plate

mark four points onto the ceiling through the mounting holes. center hole.

Line up the two mounting plate slots with the electrical box
holes and use the two provided #8-32 screws to mount it to
the electrical box.




EJl Secure the mounting plate to the four anchors with the four
provided #8 screws.

IF]

SAFETY
SAFETY CABLE
BRACKETS

D))

El Hook a safety cable through the safety brackets on each
end of the canopy and backplate.

16| ,
OO0

[ —
n;%m«:m

L1 e

M Connect the black fixture wire to the hot power line
wire with a wire nut.

M Connect the white fixture wire to the neutral power line
wire with a wire nut.

[ Connect the canopy to a suitable ground in accordance
with local electrical codes.

[O0O0]

—

5

1 =

[E Place all wires and wire nut connections properly inside
the housing.

[E Ssiide the housing onto the mounting plate and line up the
housing holes with the mounting plate holes.

[B Replace and tighten the three #8-32 screws to secure the
housing in place.

Adjust The Cable Length (Optional)

2a]

ALLEN WRENCH ———— |

SET SCREW x

I Back out (do not remove) the set screw on tip of the
connector with the provided Allen wrench.



28]

ALLEN WRENCH ———— |

H Back out (do not remove) the set screw on the cylindrical
connector with the provided Allen wrench.

El Pull the coaxial cable out.

E OUTER JACKET

= ES

BRAIDED CABLE INNER WIRE

NOTE: Be careful to not cut the insulation from the

inner wire.

NOTE: Use plus and minus tags to keep track of the
positive and negative leads.

] Cut the coaxial cable to the desired length.

H Strip 1-1/2” of outer jacket and coaxial cable to expose inner
wire only.

SURFACE

E

INNER WIRE
STOPS HERE

El Keep pushing the coaxial cable into the connector while
rotating the connector to ease feeding the inner wire into the
tip of the connector.

B

INNER WIRE

SIGHT HOLE

= A\ A

ALLEN WRENCH ———

El Look into the sight hole on the top of the connector to make
sure that the inner wire is contacting the end of the connector.

M Hold the coaxial cable in place and tighten the set screw on tip
of the connector with the provided Allen wrench. Make sure
this set screw connection is tight.

A Tap the cylindrical connector on a hard surface with the set
screw facing down, so the plate inside drops into place.

2€|

= >

CYLINDRICAL CONNECTOR

Feed and push the coaxial cable into the cylindrical connector.

[ Firmly tighten the set screw on the conical connector.




Install the fixture

[ele)e)

«©@
s )
3
€ b
B)-
(O] +O) > >0 ©)- ®
® ®

I Connect each fixture to the canopy by screwing the
connectors completely into canopy ports. Make sure to match
the positive connector with the positive canopy port and the
negative connector with the negative canopy port while
following this orientation:

@) center fixture is installed into center ports directly across
the canopy.

(® the next fixtures installed uses diagonal ports.

(© the final fixture uses remaining diagonal ports.

E1 Turn the power on.




